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Esercizio	
  1	
  
•  Si	
  proge8	
  e	
  si	
  implemen&	
  in	
  Logisim	
  il	
  circuito	
  di	
  un	
  decodificatore	
  a	
  2	
  bit	
  

	
  
	
  
	
  

•  Si	
  u&lizzi	
  il	
  decodificatore	
  così	
  creato	
  per	
  implementare	
  in	
  Logisim	
  un	
  mul&plexer	
  a	
  
4	
  vie	
  
	
  
	
  

	
  
•  Cosa	
  rappresenta	
  il	
  mul&plexer	
  a	
  4	
  vie	
  implementato?	
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  mul<plexer	
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  ingresso	
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passare	
  in	
  uscita	
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Tabella	
  di	
  verità	
  del	
  decodificatore	
  a	
  2	
  bit	
  

SOP	
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Per	
  u&lizzare	
  il	
  decodificatore	
  a	
  2	
  bit	
  come	
  elemento	
  del	
  circuito	
  

Rinominazione	
  del	
  nome	
  del	
  circuito	
   Aggiunta	
  di	
  un	
  circuito	
  al	
  progeJo	
  

Nome	
  del	
  circuito	
  aggiunto	
  

Selezione	
  decodificatore	
  a	
  2	
  bit	
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Mul&plexer	
  a	
  4	
  vie	
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Mul&plexer	
  a	
  4	
  vie	
  

Si	
  no&	
  che	
  quella	
  realizzata	
  è	
  in	
  pra&ca	
  una	
  ROM	
  programmabile	
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•  Si	
  scriva	
  la	
  tabella	
  di	
  verità	
  per	
  un	
  addizionatore	
  ad	
  1	
  bit	
  senza	
  riporto	
  (half	
  adder)	
  

•  Se	
  ne	
  dia	
  un’implementazione	
  in	
  Logisim	
  e	
  si	
  salvi	
  il	
  circuito	
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•  Si	
  scriva	
  la	
  tabella	
  di	
  verità	
  per	
  un	
  addizionatore	
  ad	
  1	
  bit	
  senza	
  riporto	
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•  Se	
  ne	
  dia	
  un’implementazione	
  in	
  Logisim	
  e	
  si	
  salvi	
  il	
  circuito	
  
	
  
Suggerimento:	
  si	
  u<lizzi	
  la	
  porta	
  XOR	
  per	
  limitare	
  il	
  numero	
  di	
  porte	
  che	
  compaiono	
  nel	
  
circuito	
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Tabella	
  di	
  verità	
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•  Si	
  scriva	
  la	
  tabella	
  di	
  verità	
  per	
  un	
  addizionatore	
  ad	
  1	
  bit	
  con	
  riporto	
  in	
  ingresso	
  

(Full	
  Adder)	
  

•  Se	
  ne	
  dia	
  un’implementazione	
  in	
  Logisim	
  e	
  si	
  salvi	
  il	
  circuito	
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SOP	
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Circuito	
  semplificato	
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Circuito	
  semplificato	
  

Sono,	
  di	
  faJo,	
  due	
  HA	
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Creare	
  un	
  circuito	
  HA	
  da	
  poter	
  u&lizzare	
  
come	
  componente	
  in	
  altri	
  circui&	
  

Editare	
  il	
  layout	
  della	
  rappresentazione	
  astraJa	
  del	
  circuito	
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Circuito	
  con	
  Half	
  Adder	
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In	
  Logisim,	
  Full	
  Adder	
  corrisponde	
  al	
  modulo	
  Adder	
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•  Si	
  u&lizzino	
  il	
  circuito	
  Half	
  Adder	
  precedentemente	
  sviluppato	
  e	
  il	
  modulo	
  Adder	
  

per	
  realizzare	
  un	
  addizionatore	
  a	
  4	
  bit	
  in	
  Logisim	
  

•  Si	
  analizzi	
  il	
  cammino	
  cri&co	
  del	
  circuito	
  così	
  implementato	
  (per	
  l’uscita	
  somma	
  e	
  
per	
  l’uscita	
  riporto)	
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Half	
  Adder	
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•  Cammino	
  cri&co	
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•  Cammino	
  cri&co	
  

•  1°	
  livello	
  di	
  porte	
  (e	
  1°	
  riporto)	
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  cri&co	
  

•  1°	
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  di	
  porte	
  (e	
  1°	
  riporto)	
  (1)	
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•  n°	
  riporto	
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Totale:	
  1+	
  2(n-­‐1)	
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•  U&lizzando	
  solo	
  moduli	
  Adder	
  
	
  

Cammino	
  cri&co	
  in	
  
questo	
  caso?	
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•  Si	
  realizzi	
  il	
  circuito	
  che,	
  a	
  par&re	
  da	
  un	
  numero	
  X	
  in	
  formato	
  binario	
  standard,	
  

fornisca	
  in	
  uscita	
  il	
  numero	
  –X	
  in	
  complemento	
  a	
  2	
  

•  Per	
  quali	
  valori	
  il	
  circuito	
  funziona	
  correJamente?	
  Come	
  accorgersi	
  del	
  non	
  
funzionamento	
  correJo?	
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•  Il	
  circuito	
  funziona	
  correJamente	
  solo	
  per	
  ingressi	
  binari	
  compresi	
  tra:	
  	
  

0000	
  (0000	
  in	
  C2)e	
  0111	
  (1001	
  in	
  C2)	
  

•  Per	
  numeri	
  maggiori	
  o	
  uguali	
  a	
  1000	
  abbiamo	
  un	
  overflow	
  
	
  
•  A	
  parte	
  il	
  caso	
  speciale	
  dello	
  0,	
  l’overflow	
  è	
  visibile	
  nel	
  riporto	
  in	
  uscita	
  dell’Adder:	
  

questo	
  sarebbe	
  il	
  quinto	
  bit	
  del	
  numero	
  in	
  C2,	
  se	
  il	
  numero	
  in	
  C2	
  è	
  nega&vo,	
  il	
  bit	
  
deve	
  essere	
  pari	
  a	
  1	
  



Esercizio	
  6	
  
•  Si	
  realizzi	
  un	
  circuito	
  che	
  operi	
  la	
  somma	
  e	
  la	
  differenza	
  di	
  due	
  numeri	
  A	
  e	
  B	
  a	
  4	
  bit,	
  

u&lizzando	
  un	
  bit	
  di	
  selezione	
  dell’operazione	
  S	
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•  Si	
  realizzi	
  un	
  circuito	
  che	
  operi	
  la	
  somma	
  e	
  la	
  differenza	
  di	
  due	
  numeri	
  A	
  e	
  B	
  a	
  4	
  bit,	
  

u&lizzando	
  un	
  bit	
  di	
  selezione	
  dell’operazione	
  S	
  

•  Sommo	
  A	
  e	
  B	
  in	
  C2,	
  convertendo	
  B	
  in	
  –B	
  se	
  S=1	
  

•  La	
  somma	
  di	
  1	
  può	
  essere	
  ges&ta	
  interpretando	
  S	
  come	
  il	
  riporto	
  in	
  ingresso	
  

Se	
  S=1	
  devo	
  inver&re	
  tu8	
  i	
  bit	
  di	
  B	
  	
  
(posso	
  usare	
  delle	
  porte	
  XOR)	
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•  Si	
  realizzi	
  un	
  circuito	
  che	
  operi	
  la	
  somma	
  e	
  la	
  differenza	
  di	
  due	
  numeri	
  A	
  e	
  B	
  a	
  4	
  bit,	
  

u&lizzando	
  un	
  bit	
  di	
  selezione	
  dell’operazione	
  S	
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•  Si	
  modifichi	
  il	
  circuito	
  realizzato	
  all’esercizio	
  precedente	
  in	
  modo	
  che	
  rilevi	
  la	
  

presenza	
  di	
  un	
  overflow	
  

•  Si	
  calcoli	
  il	
  cammino	
  cri&co	
  del	
  circuito	
  



Esercizio	
  7	
  
•  Quando	
  si	
  verifica	
  l’overflow	
  se	
  si	
  somma	
  in	
  C2?	
  
1.  A	
  e	
  B	
  sono	
  posi&vi	
  e	
  il	
  segno	
  del	
  risultato	
  è	
  nega&vo	
  
2.  A	
  e	
  B	
  sono	
  nega&vi	
  e	
  il	
  segno	
  del	
  risultato	
  è	
  posi&vo	
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